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Faults (L1)[AT,DT]: [0.0375996, O.

FFaults (PS): [0.037674022, 3.9
Faults (PC): [0.037674022, 3.9

Shot #: 3096, Param Tree: 72
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= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

T

E Condjtioned Data (DCPS), Limits: [-0.75000000, 0.750Q0000]
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—Full Alction (DCPS),ILimit = 356.06000, Max
-~ Action (idl), Max = 1458.40, End Val.= 1458
: Full Action (idl), Limit = 356.000, Max.=145
L Shot #: 3096, Param Tree: 72

—Fault Time: 1.3262700

: Faults (L1) [AT,DT]: [0.0375996, 0.0280385]

.=1458.6439, End Val. 1458.3980

3.65, End f/al. 1458.40

time

E_IDL, éircular, [-0.0b675059, 25.6067]

DCPS, Circular, [-0.0067505913, 25.
IDL, Shaped [Displaced], [-0.00675
DCPS, Shaped [Displaced], [-0.00Q,
Shot #: 3096, Param Tree: 72

699]

05913, 25.006

25.0067]
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